Supporting Statement for Paperwork Reduction Act Submissions

A. Justification

1. Why is this information necessary? Identify any legal or administrative requirements that necessitate the collection. Attach a copy of the appropriate section of each statute and regulation mandating/authorizing the collection of information.

Section 6(j) of the United States Housing Act of 1937, as amended (the Act), establishes specific assessment indicators for public housing agencies (PHAs) and directs the Secretary to develop additional indicators to assess the management performance of PHAs in all major areas of management operations. These assessments are conducted in accordance with the Public Housing Assessment System (PHAS) (24 CFR part 902) (**Exhibit A**) rule for four indicators: physical condition, financial condition, management operations, and Capital Fund Program. Under PHAS, a PHA is designated troubled if it fails to perform under the assessment indicators or is unable to administer the Capital Fund Program. Pursuant to § 6(j)(2)(A)(iii) of the Act, HUD is required to establish procedures for PHAs to appeal a troubled designation. Section 902.69 of PHAS provides that PHAs may appeal a troubled designation, petition for the removal of troubled designation, or appeal a final overall PHAS score.

Section 902.60 of the PHAS rule provides that, in extenuating circumstances, PHAs may request an extension of time to submit their unaudited financial information. The due date from which a PHA may request the extension is set forth in Section 902.33. A request for an extension, when granted, postpones the imposition of sanctions for a late submission.

Sections 902.24 and 902.68 of the PHAS rule provide, respectively, that PHAs may request a database adjustment (DBA) and a technical review (TR) of a project's physical inspection. A PHA may request a DBA based on facts and circumstances affecting a project which are not reflected in the physical inspection or inappropriately reflected in the physical inspection, for adverse conditions beyond the PHA's control, and for modernization work in progress. All DBAs must be submitted to the PHA's applicable HUD field office that reviews the request and forwards a recommendation to HUD headquarters. A PHA may request a TR of the inspection results for a project if the PHA believes an objectively verifiable and material error(s) occurred in the inspection of that project.

Corresponding provisions for owners and agents of multifamily insured and assisted properties (MF POs) to submit requests for DBAs and TRs are in the Physical Condition of Multifamily Properties regulation at 24 CFR part 200 subpart P, Section 200.857 (**Exhibit B**).

2. How is this information to be used?

For both PHAs and MF POs accurate assessments and scores are necessary. HUD uses PHA assessment data to determine the four PHAS indicator scores and an overall PHAS score. Based on the four indicator scores and overall PHAS score, a PHA is designated a high, standard, substandard or troubled performer. When granted, an appeal results in a change of a PHA's PHAS score and designation or a change in a project's physical condition, financial condition, or management operations score.

When granted, a DBA or TR request results in a change in a PHA's individual property score. PHAs performing poorly receive technical assistance from HUD, may be subject to additional reporting requirements, and are subject to possible penalties. For MF POs, the physical inspection scores are integrated with other assessments that the Office of Housing uses for monitoring and enforcement purposes. In

Signature of Senior Officer or Designee:

Date:

accordance with certain protocols, the Office of Housing takes action against properties that receive unacceptable scores.

For PHAs that do not submit audited financial information timely in accordance with PHAS submission date, sanctions may be imposed. Therefore, if PHAs with extenuating circumstances why they cannot meet the unaudited financial information submission date do not submit a request for extension for review and consideration by HUD, they may be sanctioned without cause.

Exhibit C is a screen shot of the template PHAs complete if they elect to submit a PHAS appeal on-line through HUD Secure Systems.

Exhibit D is a screen shot of the template in HUD Secure Systems that PHAs must complete to request an extension of time to submit unaudited financial information.

Exhibit E is a copy of a form PHAs and POs have the option of completing and including with their request for a DBA or TR.

3. Describe whether, and to what extent, the collection of information is automated (item 13b1 of OMB form 83-i). Also describe any consideration of using information technology to reduce burden.

All requests for appeals, TRs and DBAs must be in writing. PHAs may submit a PHAS appeal by mail (e.g., US Mail, UPS, couriers etc.), by email, or through the website application in HUD Secure Systems. Less than 1% of appeals are submitted by email and through the web based application; 99% are submitted by mail. PHAs and MF POs have the option of submitting the written requests for TRs and DBAs through the mail (e.g., US Mail, UPS, couriers etc.) or by email. Approximately 1% of all TR/DBAs are received by email; 99% of TR/DBAs are submitted by mail.

All PHA requests for an extension of time to submit unaudited financial information must be made electronically through HUD Secure Systems.

4. Is this information collected elsewhere? If so, why cannot any similar information already available be used or modified.

HUD is not aware of any duplication of efforts to collect this data.

5. Does the collection of information impact small businesses or other small entities (item 5 of OMB form 83-i)? Describe any methods used to minimize burden.

The information being collected has no significant impact on small businesses or other small entities.

6. Describe the consequence to Federal program or policy activities if the collection is not conducted or is conducted less frequently, as well as any technical or legal obstacles to reducing burden.

The collection of this information supports HUD ongoing mission to provide safe, decent and habitable housing to lower income households and accurate assessment information is necessary. PHAs performing poorly receive technical assistance from HUD, may be subject to additional reporting requirements, and are subject to possible penalties. For the Office of Housing, accurate scores are vital to their monitoring and compliance efforts; unacceptable property scores result in automatic penalties and referral for enforcement actions. The statutory right of PHAs to appeal assessments (i.e., scores and designations) under PHAS is statutory incorporated into the PHAS rule not only complies with the intent of Congress but supports accurate performance assessments. The regulatory provisions affording PHAs and MF POs the right to submit DBA and TR requests ensure that PHAs and MF POs are not penalized for conditions beyond their control and that the physical condition assessment of HUD insured and assisted properties is accurate. The consideration of requests for extensions of time to submit unaudited financial information ensures PHAs are not penalized for

extenuating circumstances affecting their ability to timely submit required financial information used to monitor the effectiveness of asset management, identify possible instances of financial non-compliance, monitor the financial health of individual PHAs, specific programs, and the overall portfolio of PHAs.

7. Explain any special circumstances:

- requiring respondents to report information to the agency more than quarterly; **Not Applicable**
- requiring respondents to prepare a written response to a collection of information in fewer than 30 days after receipt of it; **Not Applicable**
- requiring respondents to submit more than an original and two copies of any document; **Not Applicable**
- requiring respondents to retain records other than health, medical, government contract, grant-in-aid, or tax records for more than three years;

Not Applicable

• in connection with a statistical survey, that is not designed to produce valid and reliable results than can be generalized to the universe of the study;

Not Applicable

- requiring the use of statistical data classification that has not been reviewed and approved by OMB; **Not Applicable**
- that includes a pledge of confidentiality that is not supported by authority established in statute or regulation, that is not supported by disclosure and data security policies that are consistent with the pledge, or which unnecessarily impedes sharing of data with other agencies for compatible confidential use; or **Not Applicable**
- requiring respondents to submit proprietary trade secret, or other confidential information unless the agency can demonstrate that it has instituted procedures to protect the information's confidentiality to the extent permitted by law. **Not Applicable**

There are no special circumstances that require the collection of information to be inconsistent with the guidelines in 5 CFR § 1320.6.

8. Identify the date and page number of the *Federal Register* notice (and provide a copy) soliciting comments on the information. Summarize public comments and describe actions taken by the agency in response to these comments. Describe all efforts to consult with persons outside the agency to obtain their views.

HUD published a Notice of Proposed Information Collection for public comment in the *Federal Register*, at Volume 86, No. 44, Page 13581, on March 9, 2021. The public was given until May 10, 2021, to comment. HUD received one comment on the notice.

9. Explain any payments or gifts to respondents, other than remuneration of contractors or grantees.

No payments or gifts are provided to respondents.

10. Describe any assurance of confidentiality provided to respondents and the basis for assurance in statute, regulation or agency policy.

No assurance of confidentiality is provided nor is any such assurance needed. No confidential information is required.

11. Justify any questions of a sensitive nature, such as sexual, religious beliefs, and other matters that are commonly considered private

No sensitive questions are asked.

12. Estimate public burden: number of respondents, frequency of response, annual hour burden.

Information Collection	Number of Respondents	*Average Number of Reponses per Respondent	Total Annual Responses	Burden Hours/Minutes per Response	Total Hours	Hourly Cost	Total Annual Cost
PHA Appeal	182	1	182	5	910	\$41.37	\$37,646.70
PHA Extension	79	1	79	0.17	13	\$41.37	\$537.81
PHA DBA	173	1	173	8	1,384	\$41.37	\$57,256.08
PHA TR	271	1	271	8	2,168	\$41.37	\$89,690.16
MF PO DBA	233	1	233	8	1,864	\$41.37	\$77,113.68
MF PO TR	876	1	876	8	7,008	\$41.37	\$289,920.96
Totals	1814	1	1814	Varies	13,347		\$552,165.39

A. **PHA Appeals and Requests for DBAs and TRs**. The burden hour calculations for preparation and submission of appeals, extensions, DBAs and TRs are shown by type and submitter. The calculations assume that there are differences in the amount of time needed to prepare the applicable package due the differences in required information and supporting documents.

The estimated annual number of PHA appeals, PHA Extensions, PHA DBAs and PHA TRs and MF PO DBAs and TRs is the average number of each such submission received over three years (2017,2018, 2019). Note 2020 data was not used because waivers of the regulations were provided due to the pandemic, and inspection work was suspended in March 2020.

Estimated Annual Costs to PHA Respondents for Appeals, Extensions, DBAs and TRs

Information Collection	Number of Respondents	*Average Number of Reponses per Respondent	Total Annual Responses	Burden Hours/Minutes per Response	Total Hours	Hourly Cost	Total Annual Cost
PHA Appeal	182	1	182	5	910	\$41.37	\$37,647
PHA Extension	79	1	79	0.17	13	\$41.37	\$538
PHA DBA	173	1	173	8	1,384	\$41.37	\$57,256
PHA TR	271	1	271	8	2,168	\$41.37	\$89,690

B. **MF PO Requests for DBAs and TRs**. The burden hour calculations for preparation and submission of DBAs and TRs are shown by type and submitter. The calculations assume that there are differences in the amount of time needed to prepare the applicable package due the differences in required information and supporting documents.

The estimated annual number of MF PO DBAs and TRs is the average number of each such submission received over three years (2017,2018, 2019). Note 2020 data was not used because waivers of the regulations were provided due to the pandemic, and inspection work was suspended in March 2020.

Estimated Annual Costs to MF PO Respondents for DBAs and TRs

Information Collection	Number of Respondents	*Average Number of Reponses per Respondent	Total Annual Responses	Burden Hours/Minutes per Response	Total Hours	Hourly Cost	Total Annual Cost
MF PO DBA	233	1	233	8	1.864	\$41.37	\$77,114
MF PO TR	876	1	876	8	7,008	\$41.37	\$289,921
					,	·	,
Totals		Total Responses:		Total Hours:			

Total Responses:1,109Total Hours:8,873Total Cost:\$367	7,035
--	-------

The estimated annual cost to respondents assumes an annual salary of \$86,335 at a GS-12/1 level rate (Salary Table 2020-GS) or an hourly rate of \$41.37.

13. Estimate of the annual cost to respondents or record keepers (do not include the cost of hour burden shown in Items 12 and 14).

No other costs are associated with the collection of this information.

- 14. Estimate annualized costs to the Federal government.
 - A. **PHA Appeals, Extensions, and Requests for DBAs and TRs.** The estimated annualized costs to the federal government for reviewing and approving or rejecting appeals, extensions, and requests for DBAs and TRs is based on the general pay schedule for a GS-13/1 analyst/engineer. Assuming an annual salary of \$102,663 (Salary Table 2020-GS), at an hourly rate of \$49.19 it is estimated to take an average of approximately 4.5 hours to review a submission/request and provide the recommended action. The estimated annualized cost to the federal government for reviewing and approving or rejecting requests for extensions of time to submit unaudited financial information is based on the general pay schedule for a GS-14/1 Assessment Manager. Assuming an annual salary of \$121,316 (Salary Table 2020-GS), at an hourly rate of \$58.13 it is estimated to take an average of approximately 15 minutes to review each request and make a determination.

Information Collection	Number of Respondents	*Average Number of Reponses per Respondent	Total Annual Responses	Burden Hours/Minutes per Response	Total Hours	Hourly Cost	Total Annual Cost
PHA Appeal	182	1	182	4.5	819	\$49.19	\$40,287
PHA Extension	79	1	79	0.25	20	\$58.13	\$1,148
PHA DBA	173	1	173	4.5	779	\$49.19	\$38,294
PHA TR	271	1	271	4.5	1220	\$49.19	\$59,987

Total Responses: 705

Total Hours: 2,837

Total Cost: \$139,716

B. **MF PO Requests for DBAs and TRs.** The estimated annualized costs to the federal government for reviewing and approving or rejecting requests for DBAs and TRs is based on the general pay schedule for a GS-13/1 analyst/engineer. Assuming an annual salary of \$102,663 (Salary Table 2020-GS), at an hourly rate of \$49.19 it is estimated to take an average of approximately 4.5 hours to review a submission/request and provide the recommended action.

Information Collection	Number of Respondents	*Average Number of Reponses per Respondent	Total Annual Responses	Burden Hours/Minutes per Response	Total Hours	Hourly Cost	Total Annual Cost
MF PO DBA	233	1	233	4.5	1,049	\$49.19	\$51,576
MF PO TR	876	1	876	4.5	3,942	\$49.19	\$193,907

Total Responses:1,109Total Hours:4,991Total Cost:\$245,483

TOTAL COST GOVERNMENT: \$139,716 + \$245,483 = \$385,199

15. Explain any program changes or adjustments reported in items 13 and 14 of the OMB Form 83i.

This is a reinstatement of a previously approved collection. Revisions were made throughout the Supporting Statement to update the burden hours and costs to PHAs and MF Pos associated with submitting appeals, and DBAs/TRs.

16. If the information will be published, outline plans for tabulation and publication.

The information will not be published.

17. Explain any request to not display the expiration date.

HUD is not seeking approval to not display the expiration date of the OMB approval.

18. Explain each exception to the certification statement identified in item 19.

There are no exceptions to the certification statement identified in item 19 of the OMB 83-I.

B. Collections of Information Employing Statistical Methods

N/A